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37 sweets are shared between 4 friends.
How many sweets are left over?

Four children attempt to solve this
problem.

o Alexsaysits1
« Mosaysits9

« Evasaysits9ri
+ Jacksaysits8r5

Can you explain who i correct and the
mistakes other people have made?
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Dora is calculating 72 + 3
Before she starts, she says the
calculation will involve an exchange.

Do you agree?
Explain why.
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What could her equation have been? What could his equation have been?

8a. Use the ones counters fo correctly
complete the calculation. All counters
must be used once and one digit may be

ind two solutions.

9a. Junaid says,
When | divide six

hundred and eighty-

eight by 7 and 9 both

answers have a
remainder of two.

RN

Is he correct? Convince me.

8b. Use the ones counters to correctly
complete the calculation. All counters
must be used once and one digit may be

Find two solutions.

9b. Jaya says,

Three hundred and
seventy-nine divided
by five equals the same
as four hundred and
fifty-four divided by six.

Is she correct? Convince me.
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5a. Use the tens counters to comectly
complete the calculation. All counters
must be used once.

6a. Mary says,

Four hundred and fifty-
nine divided
by nine equals fifty-one
remainder two.

Is she comrect? Convince me.

5b. Use the ones counters to correctly
complete the calculation. All counters
must be used once.
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6b. Gareth says,

I can divide seven
hundred and
twenty-eight equally by
2and 4.

Is he correct? Convince me.
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6a. Match the following statements with 6b. Match the following statements with
the correct card. the correct card.

] My calculation needs no D My calculation needs no
exchange. O exchange.
lice
My calculationis solved Y My calculation s solved
incorectly. incomectly.

Paul Kavita

Sclndru —————=_| Daniel
My calculation needs fo My calculation needs to
exchange. exchange.
+7= 2
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7a. Three children have completed a 7b. Three children have completed a
calculation where both missing digits are | calculation where both missing digits are
the same. They have recorded the digit | the same. They have recorded the digit
that they think is missing. that they think is missing.





